
MADE IN CHINA

ASSEMBLY INSTRUCTIONS

       Metal Storage Bed Frame
         Assembly Instructions



1/10



X21
X24

X25

X26
X2

X2

X3

X2

X8

ASSEMBLY INSTRUCTIONS

7

3

13

14
11

8

9

10

12

15

2/10

16 X2

2



ASSEMBLY INSTRUCTIONS
PARTS  LIST

1 2 3 4

5 6 7 8

9 10

13

2PCS 1PC 1PC 2PCS

2PCS 2PCS 1PC

11 12

2PCS 3PCS 2PCS 8PCS

14 15

1PC 1PC 1PC

3/10

2PCS

16

2PCS



ASSEMBLY INSTRUCTIONS

HARDWARE  LIST

A B C D

E F G H

I J

M

8PCS 1PC 8PCS 12PCS

4PCS 8PCS 8PCS

K L

1PC 1PC 4PCS 10PCS

M8 M5*25 M6*35

M8*40 ∅8 M6*12 ∅6

10PCS

S4 S10,S13 M8*55 M6*45

M3*12

2PCS

N

M8*65

4PCS

4/10



ASSEMBLY INSTRUCTIONS

M 2PCS

M

7

15

B

B

1

2

L
H

3

14
7

1

1

L 10PCS

I

H 10PCS

5/10

H
L

14

3

7

I



G 8PCS

I

ASSEMBLY INSTRUCTIONS

3

4

6/10

4

5

5

4

6

K 4PCS

I

A 4PCS

6

J

J
Wrench

J
Wrench

I

13

G

I

G 13

13



C

11

11

ASSEMBLY INSTRUCTIONS

5

E

A 4PCS

4PCS

F 8PCS

I

J

2

N
F

I

J
Wrench

I

E
F

A

6

I

C 4PCS

7/10

Wrench A

J

N 4PCS

C
C

C



9

9

10

10

10

I
D 6PCS

7

ASSEMBLY INSTRUCTIONS

8

I
D 4PCS

8/10



C

C

D

12

12

ASSEMBLY INSTRUCTIONS

9

10

I

D 2PCS

C 4PCS

9/10

8



Turn over the rubber anti-collision block,tear off the paper,and stick 3M glue on the foot of the bed.

ASSEMBLY INSTRUCTIONS

11

10/10

Front Back3M  glue

16




